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— 1.300 X H + 0.663 m’
(H=1.500)
U e i) At (i) = 1.118 b (38) =1.118
1.118 X (H—0.50) + 1.500
= 1.118 X (H—0.50) + 1.500 (H=1.500) nf
einp e L) 1.118 X (h1 + h2) nf
BIAG t=0.500 0.559 X h1 m’
BT AR S 1.118 X (H—0.50) ot
(H= 2.000 mPL %5 F)
e 4 t=5cm (H-1.500-h1-h2) X 1.118+1.300
= 1.118 X (H-h1-h2)-0.377 nf
BEEAHE Wi AR LD m*
< PERENLY)E OFE >
IEH P COPEREH AL : A
A= 105.79 m (B EHEHFEE)
PEREIE R L
L= 34.66 m (GIfFHERHEIEE)
g H=AL
= 105.79 / 34.66
= 3.1 m




B R i W &
L~YL2 c Tfl BERE T
L3 R LTI HEEE T.(2) b7 AR Ulm <H <3m, H>8m)
BEEES TR 1-25H 7 S ERE - (No.3+11.16~No.5+1.45)
4 ot s o
< B IR >
Kl
i #aMR H-=2.0m)
| VvV EL
= KEENA T 965
gl= (COERELT

avyl)—=+k
o ck=18N/mm?

o
v HENEOSE / ;H
- KiEENAAT 9 / -
= CORRILTER) \\%\ /
B - &z, //
e g
= \ /
\ -
\ —_—
MA' WEQ LS Y= b (FRS)
B=1300 o’ika/wNJnmz L
PERERT AR 0.50
PERE S AR 0.50
Kt 1.300 (m)
hl 1.500 (m)
B1 0.750 (m)
HEIAMES t 0.500 (m)




1-2 5 & 7= o X P EE OB O ROE

a7 Y—Fh L

) MO B OB | B 1.300XH + 0.663 B, 118X (H—0.50) + 1.500 g =

Wrom E o % B (Wom E B K R
No 3 +11.160
No 3 +12.210 0. 00
No 3 +12.210 0.00
No 3 +12.210 0. 00
No 3 +13.000 0.00
No 4 0. 00
No 4 + 3.500 0.00
No 4 + 10.000 0. 00
No 4 +13.420 12.75 0.00 11. 34 5.670 H=9. 30m
No 4 + 13.420 0.915 0. 00 6. 375 5.83 0. 00 5.670 5.19 H=0. 00m
No 4 +13.420 0.915 12.75 6. 375 5.83 11. 34 5.670 5.19 H=9. 30m
No 4 + 14.870 1. 569 13.27) 13.010 20. 41 11.79| 11.565 18. 15 H=9. 70m
No 5’ 2. 800 13.27 13.270 37.16 11.79 11.790 33.01 H=9. 70m
No 5 4. 200 11.71) 12.490 52. 46 10.44| 11.115 46. 68 H=8. 50m
No 5+ 1.450 2.000 11.71 11.710 23.42 10.44 10. 440 20. 88 H=8. 50m

oy
g={11l
—
(e}
B

34. 659 145.11 m3 129.




-2 5= & 7= h X PE BE B B i B E
BRI B L (HEHEREY)
T Al BEOBE | Wrm 1.118% (hl + h2) B 1.118X (H—0.50) g =
Wr o m F ¥ K & (WoEm E ¥y K &
No 4 +13.420 3. 420 6.71  3.355 0.00 9.8 4. 90 H-9. 30, h1-3. 60m, h2-2. 40m
No 4 + 13.420 0.915 4.02)  5.365 4.91 0.0 4. 90 4.5 |i=0.00, h1=3. 60m, h2-0. 00m
No 4 +13.420 0.915 6.71  5.365 4.91 9.8 4. 90 4.5 |i=9.30, h1=3. 60m, h2-2. 40
No 4 + 14.870 1. 569 6.71  6.710 10. 53 10.3  10.05 15.8  [i-9.70, h1=3. 60m, h2-2. 40m
No 5’ 2. 800 7.16  6.935 19. 42 10.3 10.30 28.8  [i-9.70,1n1=3. 50m, ho-2. 90m
No 5 4. 200 6.04  6.600 27.72 8.9 9. 60 40.3  [i=8.50, h1=2. 10m, h2-3. 30m
No 5+ 1.450 2. 000 6.04  6.040 12.08 8.9 8. 90 17.8  [1=8.50, hi=2. 10m, h2-3. 30
& F 34. 659 79.57 m 111. 7 ot




-2 5= & 7= h X PE BE B B i B E
A (t=0.500 m) AL—F (> (t=bcm)
H S B BE | BrE 0. 559 X h1 B 1.118X (H-h1-h2)-0. 377 g &=
Wr o m F ¥ K & (WoEm E ¥y K &

No 3 + 11.160
No 3 +12.210 0. 00
No 3 +12.210 0.00
No 3 +12.210 0. 00
No 3 + 13.000 0.00
No 4 0. 00
No 4 + 3.500 0.00
No 4 + 10.000 0. 00
No 4 +13.420 3. 420 2.01 0.00 3.31 0.00  [1-9.30, h1-3. 60m, h2-2. 40n
No 4 + 13.420 0.915 2.01 .010 1.84 0.00  1.655 1.51 H-0. 00, h1=3. 60m, h2-0. 00m
No 4 +13.420 0.915 2.01 .010 1.84 3.31  1.655 1.51 -9, 30, h1=3. 60m, h2-2. 40m
No 4 + 14.870 1. 569 2.01 .010 3.15 3.76)  3.535 5.55  |i9.70,n1-3. 60m, ho-2. 40m
No 5’ 2. 800 1.96 . 985 5. 56 3.31  3.535 9.90  [1=0.70, h1-3. 50m, h2-2. 90m
No 5 4. 200 1.17 . 565 6.57 3.09  3.200 13.44  [i=s.50, h1-2. 10n, h2-3. 30m
No 5+ 1.450 2. 000 1.17 . 170 2.34 3.09  3.090 6.18  [i=s.50, h1-2. 10m, h2-3. 30n

& F 34. 659 21.30 m3 38.09 ni




ot

-2 5 & 7= X PE EE ¥ oEm i R
1B BEOBE o fH
il AR HE i B
ms kB om T
No 3+ 11.160
No 3 +12.210
No 3 +12.210
No 3 +12.210
No 3 + 13.000
No 4
No 4 + 3.500
No 4 + 10.000
No 4 + 13.420 9. 30 0. 00 H=9. 30m
No 4 + 13.420 0.915 0.00  4.650 4.25 H=0. 00m
No 4 + 13.420 0.915 9.30  4.650 4.25 H=9. 30m
No 4 + 14.870 1. 569 9.70 9.500  14.91 H=9. 70m
No 5’ 2. 800 9.70  9.700  27.16 H=9. 70m
No 5 4. 200 8.50 9.100  38.22 H=8. 50m
No 5+ 1.450 2. 000 8.50  8.500  17.00 H=8. 50m
A F 12. 399 105.79 nf




BEEE T (35 b Toha\BERE) BEFHESE

T i O " = AL 7
BRTITHERET (1)
35 b 7= HERE LA HEEE Bm=H=8m)
it TIEF No5+1.45 ~ No5+5. 66 m 5.0
a7 Y—F o ck=18N/mm’| MrHEIEHEE LY m3 39. 25
i) P — Rlpe +  FARIPe (BrmetEEL YD)
(44. 15+27. 40) nt 71.55
N B HAEEAEYS| WmstEELD Hhnd 39.0
AR RC-40 Wrm st R E LY m3 6. 45
=T t=5cm WimstEELY n 13.95
2y ) - MAFE 13.95 X 0.050 m3 0. 70
H # % t=10mm 39. 25,710 m 3.9
KIFEENRAT VP ¢ 65 a7 J— KV, 3X50%
39.25,76 m 6.5
W% UBS IR #F 300X300 MAE|  IKIKERA TR BER
6.5,1.000 & T 7
SRR S 1F T R T A BERE IE R
37.5/5 m 7.5




= i A &
L~YL2 Tl PERE T
L~yL3 iR ST HERE (1) b7 ABERE Gm=H =8m)
PEHE A PR 3E LI AHEEE  (No.5+1.45~No5+5.66)
4 B S i - B
< FERImM7-0EA >
Bt= 1.000 + 1.000 X 0.500 — 0.500
1.000 m
JEEMEB= 1.000 + ( 0.50 - 0.50 ) X(H - 1.000)
= 1.000 (m)
RSt el i F
= 1/2X{1.000 + (1.000 + 0.500) } X 1.000
1.250 of
HWRa 7 —Hoeck=18N/mm*| 0.400 X 0.500X1/2=0.100 m’
27—k o ck=18N/mm’| 1/2X (1.000 + 1.000) X (H - 1.000) + 1.250+ 0.100
= 1.000 X H + 0.350 m®
(H=1.000)
LU s Fiii1] #HE (A7) =1.118 FHE (3E) =1.118
1.118 X (H—0.50) + 1.000
= 1.118 X (H—0.50) + 1.000 (H=1.000) i
B wiip O 1.118 X (h1+h2) i
A t=0.500 0.559 X h1 m®
25 L HAEER 25 1.118 X (H—0.50) #Hm
(H=2.000 mPL E%5F 1)
R—=FA t=5cm (H-1.000-h1-h2) X 1.118+1.000
= 1.118 X (H-h1-h2)-0.118 i
BE R Wrim st R E LY m®
< PERELL) @ O >
IEMAX CTOBERE RS : A
A= 3750 m GUACEHERHFHEE)
PEBEIE R L
L= 5000 m (BUACTES &GRS
¥ E H=A/L
= 37.50 / 5.00
= 7.5 m




o o= i B &
LL2 o fl PERE T
L~L3 cFlR WETFIHERE T.(1) b2 AHEEE Gm=H =8m)
BEREA FR 35 G- AVAHERE  (Nob+1.45~No.5+5.66)
Ca) K = = W7
< B Ik >
KifiE
=1000
] avhy—h
= 12500\ §t=1000 ook 10N/ m*
& N o
= EARE KiEEA T $65
RC-40
BE+ \3 e //§
- S v B W -
2 ~ \ ?‘" -
< ~ \ o o
\\\ o /
AN /
- \ \\ //
2 \ .
>\ F_b\\éra_lr
~—354 2 (t=5em) \t@a:wu—r (FET5)
B=1000 ock=18N/mn?
PERE i AL 0.50
PERE S AR 0.50
PN 1.000 (m)
hl 1.000 (m)
B1 0.500 (m)
HOAMES t 0.500 (m)




3 B b kUK B B W R i B _E

aryyy—rh L
il SO BE OB | &=L 1.000XH + 0.350 B 118X (H—0.50) + 1.000 T
Wromo F ¥ % B (Wrom k¥ % B
No 5+ 1.450 0. 000 7.85 8. 83 H=7. 50m
No 5+ 5.660 5. 000 7.85 7. 850 39. 25 8.83 8.830 44. 15 H=7. 50m

& &t 5.000 39.25 m3 44,15 m




N TN N N = = Y i
3 5 b 7= #n X PEOBEE B & i B E
LR 5T (HEERE )
H Ao | BB | Wrm 1.118 X (h1+h2) B 1.118X (H—0.50) o o
Wr m ¥ =W om F ¥ K 5
H=7.50, h1=2. 30, h
No 5+ 1.450 0. 000 5.48 7.8 2=2. 60m
H=7. 50, h1=2. 30, h
No 5+ 5.660 5. 000 5.48  5.480 27. 40 7.8 7. 80 39. 0 2=2. 60m
& F#t 5. 000 27.40 m 39.0 fnf




3 B b kUK B B W R i B _E

HiAeA (¢ =0.500 m) A~—F A (t=hcm)
H Aol OBEE Brm 0. 559 X h1 B 1.118X (H-h1-h2)-0. 118 g &=
Wrom E o % B (Wom E B K R
H=7. 50, h1=2. 30, h
No 5+ 1.450 0. 000 1.29 2.79 2=2. 60m
H=7.50, h1=2. 30, h
No 5 + 5.660 5. 000 .29  1.290 6. 45 2.79  2.790 13. 95 2=2. 60m

& F#t 5. 000 6.45 m3 13.95 m




3 5 b = v X P OBE Vo om G B

\ | E m R m R )
W | oEE | W m
mE T B OH M
No 5 + 1.450 0. 000 7.50 H=7. 50m
No 5 + 5.660 5. 000 7.50 7.500 37.50 H=7. 50m

& Ft 5. 000 37.50 m




